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Table 1 - Distinguishing Features of Major Types of Markets

Number of sellers - Very large Large Small numbers One
Product differentiation None Slight None to substantial Extreme
Price elasticity of demand of a firm Infinite Large Small Small
Degree of control over price None Some Some Very

considerable
b *
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Table 2: Total Revenue, Average Revenue and Marginal Revenue
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Multiple Choice Questions l X
-’

14) Suppose a firm is producing a level of output such that MR > MC, what should be firm do to maximize
its profits?2

(a) The firm should do nothing. (b) The firm should hire less lzbour.
(c) The firm should increase price. &~  The firm should increase output.

—

15) Suppose thet a sole proprietorship is eaming total revenues of T 1,00,000 and is incurring explicit
costs of ¥ 75,000. If the owner could work for another company for ¥ 30,000 a year. we would

conclude that : ™ol o] oqlh
_.l.ar/ The firm is incurring an economic loss. Enp co\ 75000 .U

(b)  Implicit costs are T 25)600 30009 45000 - A Pmbt
(¢)  The total economic costs are ¥ 1,00,000. 105000 *3mp.  (30.000)

3000 - &co.
(d) The individual is earning an economic profit of T 25,000 x o E_Q=L£\

Multiple Choice Questions

16 5 4 i . :
) Which is the first order condition for the profit of a firm to be maximum?

(a) AC =MR
(c) MR = AR (d)

170 Suppose that a sole proprietorship is eaming fotal revenues of T 1,00,000 and is incurring explicit
costs of ¥ 75,000. If the owner could work for another company for ¥ 30,000 a year, we would
conclude that :

(a) The firm is incurring an economic loss.
(b) Implicit costs are ¥ 25,000

(c) The total economic costs are ¥ 1,00,000.

(d) The individual is earning an economic profit of T 25,000.




Multiple Choice Questions

18) Suppose that the demand curve for the XYZ Co. slopes downward and to the right. We can conclude

that ) B

(a) the firm operates in a perfectly compelitive market. ® s \ ' _.ﬂklns_::i.

(b) the firm can sell all that it wants to at the established market price.

_/@/ the XYZ Co. is not a price-taker in the market because it must lower price to sell additional
units of output. = Pefect Compehbve

’m the XYZ Co. will not be able to maximi?__profits because price and revenue are subject to

c@lge. MR: M
_

Multiple Choice Questions

19) A market structure in which many firms sell products that are similar but not identical is known as
v(a-)’ monopolistic competition (b) monopoly
(c) perfect competition (d) oligopoly

39) In @ very short period market: 'HQ,M {3.“.5
—
Ja”  the supply is fixed (b) the demand is fixed

(c) demand and supply are fixed (d) none of the above




Multiple Choice Questions

21)

, Stock exchange market is an example of 3@

(a) unregulated market JB regulatéd market

(c) spot market (d) none of the above

29’ The market for the ultimate consumers is known as
(a) whole sale market (b) regulated market

(c) unregulated market N7 retaill market

RFC+AVL
AC7AR , ARZAC oyt

23) Ifthe average cost is higher than the average revenue then the firm incurs

Normal profit (b) Abnormal profit
(d) No profit, no loss

ﬁ The market for the ultimate consumers is known as
(a) whole sale market (b) requlated market

(c) unregulated market (d) retail market

AR=AC | Noveeal Eo’mkj,s




Multiple Choice Questions
-

25) Women primarily wear Traditional Assamese Saree in Assam & adjoining
areas, is an example of:
a) National Market
] Regional Market
¢) Local Market
d) International Market

/26) Markets where goods are exchanged for money payable either immediately
or within a short span of time:
a) Forward Market
7~ Spot Market
¢} Both (a) and (b)
d) Neither (a) nor (b)

Multiple Choice Questions

27) When AR = Rs. 12 & AC = Rs_10, the firm makes:

a) Normal Profit HP\';HC
b) Loss T

&y Super Normal profit
d) None of the above

>
28) Marginal Revenue will be zero if the elasticity of demand is:
C a) Equal to zero iopa _
\/b)’fqual to 1 P’l‘\::- M[e_'g]

¢) Greaterthan 1

d) Lessthan1




Multiple Choice Questions

29) On the basis of nature of transaction, the market is classified into:
a) Regulated & Unregulated Market e
b) Wholesale & Retail Market
_&¥ Spot & Future Market
d) None of these

*30) If the price elasticity of demand of a product is=;§_, what should be the price
of the product for its MR to be Rs. 20? -
a) Rs. 10 per unit g MR : AR [c__-_l]
b) Rs. 20 per unit <

s. 30 per unit A0 - Q&‘[‘B‘_‘] 20 %3
d) Rs. 40 per unit N | ¢ 2

Multiple Choice Questions
Teak

3K Assume that when price is Rs. 100 per unit, the quantity demanded is 900
units. When price falls to Rs. 90

a) Regulated & Unregulated Market

b) Wholesale & Retail Market

c) Spot & Future Market

d) None of these R Tve

T A
,32),.41: shut down point: Priy ‘q R = AVC
a) Price is equal to AVC L

e
b) Total Revenue is equal to TVC Shat dewn  Continv
. ¢) Total loss of the firm is equal to TFC 4. FC FC

_d)~All of the above




Multiple Choice Questions

Tove!

™
o ¥

L{3) A firm encounters its “ shutdown point” when:

a) Average total cost equals price at the profit-maximizing level of output.
) Average variahle cost equals price at the profit-maximizing level of output.
c) Average fixed cost equals price at the profit-maximizing level of output.

d) Marginal cost equals price at the profit-maximizing level of output.

"34) Suppose that at the profit maximizing level of output, a firm finds that

market price is less than average total cost, but greater than average variable
cost. Which of the following statements is correct?

a) The firm should shutdown in order to minimize its losses AR 7 AvC
b) The firm should raise its price enough to cover its losses. Shot dognt X
¢) The firm should move its resources to another indusitry

he firm should continue to operate in_the shartrun.in order to minimize its
losses.

Multiple Choice Questions 02 CATC 5
——— P —
35) “1am making a loss, but with the rent I have to pay, I can’t afford to shut
down at this point of time.” If this entrepreneur is attempting to maximize
profits or minimize losses, his behaviour in the short run is:
& Rational, if the firm is covering its variable cost ~ ARZAVC
b Rational, if the firm is covering its fixed cost
c) Irrational, since plant closing is necessary to eliminate losse$<
d) Ir@al, since fixed costs are eliminated if a firm shyts down. 3;,&@

,%] It will be profitable for a firm to expand output till which of the following
condition?

a) Marginal revenue is greater than marginal cost
b) Marginal revenue is less than marginal cost
¢) Marginal cost is greater than marginal eestRewnue

_Mrginal revenue is equal to marginal cost

‘l#”'
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- 'h‘ 3
Multiple Choice Questions an ] 10

v
Assume that when .Brit::e is T 20, the quantity demanded is 9 units, and when price is T 19, the quantity
demanded is 10 unils. Based on this information, what is the marginal revenue resulting from an
increase in output from 9 units to 10 units.

b) 19
@ T

AT
3}/ Marginal Revenue is equal to: * Ef&

(a) The change in price divided by the change in output. ad
(b)~ Thechangein qt%rltity divided by the change jn.price. P
_,P)’ The change in P x Q due to a one unit change in output.

(d) Price, but only if the firm is a price searcher.

5
Multiple Choice Questions [:x

,33 What is the shape of the demand curve faced by a firm under perfect compefition

v{a-)’ Horizontal (b) Vertical
(c) Positively sloped (d) Negatively sloped

~  Perled Co«\\)
Y Which of the following is not a characteristic of a “price-taker™? \

r——

(a) TR=PxQ _ (b) AR = Price v

M Negatively - sloped demand curve (d) Marginal Revenue = Price




Multiple Choice Questions

’ﬁ] For market, the essential condition is:
a) A particular geographical place
b) Control of the government

&) Close contact between buyers and sellers
d) None of these

+&) In Economics, we are concerned with:

a) Value in use only T
Exchange value only

¢) Both value in use and exchange value

d) None of the above

Multiple Choice Questions

7) In a very short period market:
A)} The supply is fixed
b) The demand is fixed
¢) Demand and supply are fixed
d) None of these

8) Generally, perishable goods like butter, eggs, vegetables, etc. will have
a) Regional market

¥ Local market
¢) National market
d) None of the above




Multiple Choice Questions

*

9) Secular period is also known as:
a) Very short period
b) Short period

o Very long period
d) Long period

10) Example of a commodity said to have an international market:
a) Perishable goods
Jb¥FHigh value and small bulk commodities- Giold & Silver
c) Product whose trading is restricted by government
d) Bulky articles

Multiple Choice Questions

11) Average revenue curve is also known as:
a) Profit curve
W] Demand curve
c) Average cost curve
d) Indifference curve

D

12) When e>1, then MR is:
a) Zero 1
b) Negative
ey Positive
d) One




Multiple Choice Questions

13) If the price of a product is Rs. 20 per unit and its price elasticity of demand
is 0.25. Its MR will be:
a) 60 dox -0 3
0%

d) None of these
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